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NCERT Solutions Class 12 Maths Chapter 2

Inverse Trigonometric Functions

Question 1:

()
Find the principal value of 2).

Solution:

; 1
sin™' (——] =y
Let, 2
Hence,

T
Range of the principal value of S (%) is [ 2’ 2)

BT
Thus, principal value of 2z 6).

Question 2:
cos | —
Find the principal value of 2
Solution:
cos” | — |=y
Let, 2
Hence,
cosy=| 2
Y172

T
=Cos—
6

Range of the principal value of cos™ (x) js (0.7)

B
cos” | — |=|—
Thus, principal value of 2 6
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Question 3:

Find the principal value of cosec™ (2)

Solution:

Let, cosec”' (2)=y
Hence,
cosecy =2

%)
=cosec| —
6

Range of the principal value of

Thus, principal value of

Question 4:

Find the principal value of L

Solution:

-1 _
Let, o (_‘ﬁ)_y
Hence,

Range of the principal value of

Thus, principal value of

Question 5:

- [‘%‘ﬂ (o}

()

()

an (5)=(-2.2

w ()]

. cos™ [——)
Find the principal value of 2
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Solution:

1
cos™ (——] =
Let, 2) 7

Hence,

1
cosy=——
d 2

5
=—cos| —
3
T
=cos| T ——
)
S
=cos| —
3
Range of the principal value of cos ' (x) =[0.7]

25
cos” | ——|=| =
Thus, principal value of 2 3.

Question 6:

Find the principal value of @n ' (~1)

Solution:

Let, tan” (=1)=»
Hence,

taer () = (-%,E

Range of the principal value of

-1 T
N an” (-1)=-2
Thus, principal value of 4).

Question 7:

sec™ [i}
Find the principal value of J3
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4

Solution:

2
sec ' (—} =y
Let, V3

Hence,

sec” (x¥)=[0,7] —{%}

Range of the principal value of

~(3-(5
Thus, principal value of V3 6/,
Question 8:

et (3)

Find the principal value o

Solution:

Let cot” (Ji): Y
Hence,
coty= \/I’:

ol

Range of the principal value of cot™ (x)=(0,7)

w(-(5)

Thus, principal value of

Question 9:

cos™ (— L]
Find the principal value of V2

Solution:

cos ! [—L} =y
Let, J2
Hence,
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4

CoSy=——

Range of the principal value of cos ' (x) =[0,7]

(g
Thus, principal value of V2 4.

Question 10:

¢ cosec”' (—\5 )

Find the principal value o
Solution:

Let, cosec™ (—\5) =y

Hence,
cosec y = -2

T

=—C0s€C| —
[4 ]

=C0oseCc| ——

4

—1 T
o cosec (x)z[——,—}—{(}}
Range of the principal value of 272

cosec™ (—\/5) = [— E]

Thus, principal value of 4).

Question 11:

tan™' (1)+cos™ (—l] +gin™ (—l]
Find the value of 2 2).
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Solution:
Let, tan "' (1)=x
Hence,

tanx =1
Therefore,

Therefore,

. sin”’ (——1—] =i
Again, let 2

Hence,
; 1
sinz=——
2
= —sin(
= sin[
Therefore,
sin™' (—J—]
2
Thus,
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tan™ (1)+cos™ [— l] +sin”' [—l) =t
2 2) 4

Question 12:

P ( 1} o ( 1 ]
) cos | — |+2sin | —
Find the value of 2 2

Solution:
Let, tan ' (1)=x
Hence,
coSXx =—
3
=Ccos| —
3

Therefore,
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Therefore,

Thus

2
il
Question 13:
Find the value of 8in”' x=y_ then
(A) O<y<nm (B) 2 2
A
(C) 0<y<m O 2°7°2

Solution:

It is given that sin” x =y

2 sin"x=[—~,——}
Range of the principal value of 2°2

i T

Thus, 2 2
The answer is B.

Question 14:
Find the value of tan™' V3 =sec™ (2) i equal to

_r
(A) 0 B) 3
z 2
© 3 (D) 3
Solution:
Let tan” (ﬁ):x
Hence,
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. . tm_lx=[——,£]
Range of the principal value of 2°2

w1915

Let se¢ (2)=v
Hence,

Therefore,

secy =(-2)

T
=Sec| —-—*J

(2?r]
=sec| —

sec™'x=[0,7]- {%}

Range of the principal value of

- 2
1 _2 P el
Therefore, See ( ) 3
Thus,
tan' V3 —sec”’ (—2)=£—2—ﬂ
3 3
T

The answer is B.
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EXERCISE 2.2

Question 1:

3sin” x=sin” (3x—4x’),x e [-l,_l]
Prove 2°2].

Solution:
Let x=8in
Hence, 8in' (x)=

Now,

RHS =sin "' (3x—4x’)
=gind¢dsio - )
=8in"'(sin3 )
=8
=3sin"' x
=LHS

Question 2:

3cos™ x=cos™ (43:3 — Bx),x = I:i, 1:|
Prove 2" .

Solution:
Let x =08os

Hence, Bos™' (x ) =
Now,
RHS =cos ' (4x* - 3x)
= 8053“(&&)53 - )
=80s ' (cos3 )
=8
=3cos ' x
=LHS

Question 3:

-1 2 -1 ? -1 ]_
tan —+tan —=tan —
Prove 11 24 2.
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Solution:

Since we know that

Now,
LHS =
Question 4:
tan~ —+ tan
Prove 2
Solution:

Since we know that
Now,

2tan ' x =tan™'

=j x+y

tan”' x+tan"' y = tan
I-xy

2

=31

=t —_—

1
7 17

2x
1-x* and

WWwWW.CUEMATH.COM
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I

LHS =2tan” —+tan "?
2)(1
=tan” —2_+tan"' =
1 7
1__ =
(2
(5o (7
=tan™ | = |[+tan”'| =
9 7
(4 1
4| 377
B
y 37
(28+3
—tan-t| 21
By
L 21
(31
=tan | —
\17
= RHS
Question 5:
AVl+x? -1
Write the function in the simplest form: X
Solution:
Let x=tan0 =60 =tan ' x
Hence,

WWwWW.CUEMATH.COM
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;
g Vi+2 -1 _ian 1| Y1+tan’0 -1]

x tan @
A

_lfsecﬂ—l]

\. tan @
1~ oosﬂ]
. sin@

-
2sin’ A

. 0 0
2sin—cos —
2 2

i e)
=tan | tan—
o 2

Question 6:

Write the function in the simplest form: xt =1

Solution:

Let x =cosec® = 0 = cosec 'x
Hence,

(s
=tan”'(tanf)
=0

=cosec 'x

T -1
=——sec x
2

Question 7:
l1—-cosx

tan ' [
Write the function in the simplest form: 1+ cosx

WWwWW.CUEMATH.COM
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Solution:

) 1—cosx=2sin*> 1+cosx=2cos’ >
Since, 2 and 2
Hence,

Z 1-cos
tan™'| H—x = tan
l+cosx
'
sin—
=tan”'
cos —
\
*
=tan'| tan —J
2
-
2
Question 8:
P [cosx— sinx]
. N . ) —— |,0<x<7m
Write the function in the simplest form: COSX +8Inx
p
Solution:
( cosx—sinx
tan”! COSX —sinx ol COSE
cosx +sin x cosx +sinx
\; COSX
( - sin x
- tan“ Cosx
sin x
1+
\ cos X
= (1—tanx
=t{an
\ 1+ tan x
=tan™ (])-— tan”’ (tan x)
T
= Z —X
Question 9:
4 X
tan ,‘x‘ <da

Write the function in the simplest form: Na* —x?

WWwWW.CUEMATH.COM
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Solution:

x=asinf =60 =sin"' (i]
Let

Hence,

tan-! X — tan~! asin@
@t —x \\/az—a2 sin® 0
— ! ( asind J
\a\}I_Sinz 9
asin®
acoso

=tan™

=tan™' (tan@)
=0

. _1 .x
=sm —
1

Question 10:

tan™' (
Write the function in the simplest form: a’ —3ax
Solution:

Let
Hence,

x=atan9:>9=tan"(£]
a

tan™! 3a’x—x° - tan™! 3a’-atan@ —a’ tan’ O
a’—3ax’ a’ —3aa’ tan’ 0

_m_,(3a3tan6—a3tan36‘)

a’ =3a’tan’ 0
=tan™' (tan30)
=130
= 3 tan_l E
a

WWwWW.CUEMATH.COM
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Question 11:

tan™' [2 005[2 sin”™! —)]
Write the function in the simplest form: 2

Solution:
sin”! 1_ X
Let 2
Hence,
. 1
SiInx =—
2
)
=Ssin| —
6
T
X=—
6
i [ 1 ) n
sin”!| — |==
2 6
Therefore,
tan™' [2 cos [2sin" %ﬂ =tan"'| 2cos [2 XEJ]
=tan"'| 2cos E}
=tan™'| 2 x l]
=%
= tan"'[1]
i
4

Question 12:

Find the value of cot(tan" a+cot ' a)

Solution:

= = T

) tan ' x+cot ' x=—

Since 2
Hence,

cot (tan" a+cot™ a) = cot [EJ
2.

=0

WWwWW.CUEMATH.COM
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Question 13:

2
Find the value of 1+x
Solution:
Let x=tang =0 =tan ' x
Hence,
. g 2x . _1( 2tan@ ]
Sin =S5in B 7 e
1+ x° 1+tan% @
=sin"'(sin20)
=26
=2tan"'x

Now, let y=tang=>¢p=tan"' y

Hence,
T—y* 1—tan?
cos' —yz =cos” &25&
1+p 1+tan’ ¢
=cos " (cos2¢)
=2¢
=2tan"' y
Therefore,

v oof ok R
tan—[sm : +cos —2
+

Question 14:

sin [sin" %+ cos”' x] =1

Solution:

o sin [sin" 1 +cos™! x) =
It is given that 5

WWwWW.CUEMATH.COM
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tan sin” xz+°°9711 | x[<Ly>0
l+y

Jz tan%(Ztan" x+2tan” y)

= ‘[ﬂl’l(tan'l x+tan™ y)

o tan[tan"' [;H_

|

, find the value of x.

X+y
1-xy

)

&
— Xy

)
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Since we know that Sin(x"'y) =s§inxcos y+cosxsiny

Therefore,
<
sin [sin‘1 l] 4::03(003_1 x) + cos{sin*' 1 sin(ccos”l x) =1
5 3
| Y
— |%(x)+cos| sin”' — sm(cos x)=l
5 5)
24 cv:)s[sin‘1 1) sin(cos™ x) =1 (1)
5 5)
sin"l= = sin =t
Now, let 5 ” ¥ 5
Then,
1 2
osy=,[1-| -
cos y [5]
26
5
=cos™ _2\/8
¥ 5
Therefore,

a1 [2Ve
sin” = cos [T) wel B

Now, let cos” x=z=cosz=x

Then,
sinz =+1-x*
z=sin"'J1-x?
Therefore,

cos” x=sin"' V1-x? wil3)

From (l)=(2) and (3), we have

WWwWW.CUEMATH.COM
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— §+ cos {cos_1 g]sin (sin‘l 1-x* )

£+iJl_—

=>x+2x/_ 1-x* =5

= 5—x =261

On squaring both the sides

25+ x° —10x =24 —24x>
25x° —10x+1=0

(5x-1)" =0
(Sx—l) =0
1
x==
5
Question 15:
4 x-1 Lx+1 =«
tan' = +tan' ——==
If x—2 x—1 4, find the value of x.
Solution:
-1 x_l +tar1_| x+l_
It is given that x—2 x-1
tan”' x+tan”' y =tan"' (H—y}
Since 1-xy
Therefore,

WWwWW.CUEMATH.COM
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2

= tan

x—1

x+1

—_—

x—2

x+2 _z

i
\

=)

(x=1)(x+ 2)+(x+1)(x—2)] _n
(x+2)(x=2)—(x-1)(x+1)| 4

| B +x—-24x" —x-2

o

Question 16:

xt—

1 _2x2—4 _E
3 | 4

T
4-x" +1 }_4

_14-2x2] n
=tan —

4

. sin”' (sin —-J
Find the value of 3/

Solution:

Since, ¥in sm (8- )
Therefore,

. _,[. 211‘} T . [ Zn‘]
sin”!| sin=— |=sin'| sin| 7 —=—
3 3

Question 17:

tan™’ [
Find the value of

=5

T
tan —
4

¥

in™ (sin E)
3

3

WWwWW.CUEMATH.COM
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Solution:
Since, thn tan (ﬁ_ )
Therefore,
tan"(tan-giJztan'l —tan —3—”]]
L \ 4
- -
=tan”' | —tan :z——]
L . 4
i ’
=tan”| —tan 5]]
L \ 4
=tan”' tan[—iﬂ
4

Question 18:

. tan(sin'I 3 4 cot™ é)
Find the value of 3 2/,
Solution:

.3 3
sin'==x=sinx==
Let 5 5
Then,
= cosx=+1—sin’ x =%
5
= secx=—
4
Therefore,
tan x = v/sec’ x—1
= E—[
U 16
_3
4
x=tan" E
4
43 i3
sin'==tan"' = |
5 4 ( )
Now,

WWwWW.CUEMATH.COM
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-1 3 -1

2
—= = w2
cot” —=tan” - (2)

Thus, by using (1) and (2)

tan| sin” —+cot” — |=tan| tan” —+tan~ —
5 3 \ 4 3
3 2
L 473
= tan| tan ]_E.E
L 4 3
s
= tan tarrIE
\ 6
7
"6
Question 19:
_1[ 77:]
cos™ | cos— |
6 ) is equal to
In 5% z
(A) 6 (B) 6 ©) 3
Solution:
_1( 77:J A —‘?n:]
cos™ | cos— |[=cos ™' | cos——
6 \ 6
=cos ' cos[er—T’—zﬂ
i 6
_1_ (SE]}
=cos | cos| —
i 6
st
6
Thus, the correct option is B.
Question 20:
. (n . _1[ ID
sin| ——sin™ | ——
3 2)) is equal to
1 1 1
(A) 2 (B) 3 ©) 4

WWwWW.CUEMATH.COM
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Solution:
; _1( 1)
sin” | —— |=x
Let 2
Hence,
; 1
sinx=-——
2
»
=—sin—
6
. P4
=sin| ——
)
T
e
6

. o sin"(x)=|:_—x~,£]
Since, Range of principal value of 2 °2),

Therefore,

Then,

Thus, the correct option is D.

Question 21:

-1 -1
Find the values of @1 V3 —cot (_‘E) is equal to

(A) 7 (B) = (©) 0
Solution:

Let tan™' /3 =x

Hence,

WWwWW.CUEMATH.COM
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T T T
tan x =+/3 = tan = e [——
o 3, where 3 2
2 i
tan '3 ==
Therefore, 3

Now, let cot” (_ﬁ) e

Hence,

coty=(—\f§)

o
(e
ol

Since, Range of principal value of cot ' x=(0,7)
Therefore,

ot (~V3) =2
Then,
tan ' V3 —cot™' (—ﬁ) =%—%€
s
-2

Thus, the correct option is B.
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MISCELLANEOUS EXERCISE

Question 1:

137:)
COos5—

cos”! [
Find the value of 6

Solution:

5 ( 132) T )
cos”' | cos— |=cos™' | cos| 2 +=
6 6

Question 2:

. tan”' (tan 7—”]
Find the value of 6 /.
Solution:

tan”' (tan %TJ =tan™

Question 3:
g i . 24
28in —=tan
Prove that 5

Solution:

- o173 ; 3
sinT —=x=sinx==—
Let 5 5

Then,

WWwWW.CUEMATH.COM
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Therefore,

Thus,

Question 4:
8
Prove that

Solution:

- oo B
sin” —=
Let 17
Then,

Therefore,

oop B e e
in~ —+sin

LHS =2sin™ 5

=2tan”

= RHS

(s

—_

5
3

[from (1)]

g T

=tan —

: 8
xX=>sinx=—
17

COSx = 1—(

.3
17

i

36.

_ 225 _15
289 17

WWwWW.CUEMATH.COM
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Now, let -
Then,

Therefore,

4.3 ,
—=y=siny=—
5
[3]2 16 4
cosy=,[1-|=| =,/—==
5 25 5
v
Y=
y=taﬂ_1—
sin”' 2 tan ™' % «2)

Thus, by using (1) and (2)

Question 5:

Prove that

Solution:

Let
Then,

L4 12
C0oS —+C08S —=Co0s
5 13

LHS =sin™ £+sin" -
1 5

-
65 .

il 4
CO8 —=X=>COSXx=—
5 5

WWwWW.CUEMATH.COM



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

cuemath

THE MATH EXPERT

) 5
Therefore,

3
tanx=—
4

x=tan™ E

4

cos"‘——:tanf'E 1)
4
12

12
COS  —=y=>cosy=—
Now, let 3 s % 13

Then,
sin =i
Y 13
Therefore,
tan —i
T
5
=ta_n_l—
% 12
co L —tan"wi- (2)
13 12
Thus, by using (1) and (2)
cos‘1i+cos‘l£—t 13 i — =
S 13 4 12
3 5
4 a1z
= tan - é 5
4 12
=tan" } sl 3)
08 —=z=>cosz=—

Now, let ¢ 65

Then,
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Therefore,
33

tanz=—
56

z=tan™ b

33

133 56
cos” —=tan"' —
65 33

Thus, by using (3) and (4)

L4 12
C08S —+C0S —=CO0S
5 13

Hence proved.

Question 6:

w12 9 & w56
cos —+sin ' ==sin' —
Prove that 13 5 65 .
Solution:
cos ' B = cos Y= e
Let 0 137 13
Then,
siny=,[l- 14 2 -2
7 13) 13
Therefore,
tan y=-—
5
=tan” —
¥ 12
cos” —=tan™ F
13 12
sin"i—x:w.imc—2
Now, let 5 5
Then,
HE:
cosx=,]1-|=| ==
) 3
Therefore,

WWwWW.CUEMATH.COM
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3
tanx =—
4
x=t&m'IE
4
5111-1_?1:131-,"1_3_ cssli2]
5 4
-1
_— : ——
Now, let " 6 F e
Then
cosz = 1—(£) E
65 65
Therefore
tanz=ﬁ
33
:'l“analE
33
56 56
g0 = i 20 .(3)
65 33
Thus, by using (1) and (2)
LHS =cos™ E+ sin”! 2
1 S
48 43
=tan' —+tan ' =
12 4
5 3
_+_
et 124
2.3
12 4
[20+36
_ s 48
=l 48-15
L 48
(%)
\ 33
155 :
=Sm — US 3
= [Using(3)]
= RHS
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Question 7:

463 . 5 a3
tan —=s8m —+Cc0s —
Prove that 16 13 5.
Solution:
< o Y ; 5
sin” —=x=>sinx=—
Let 13 13
Then,
( 5 T 12
cosx=,(l-|—=| =—
13 13
Therefore,
tanx=—
D
x=tan™" —
12
sin™ L tan ™' 2 (1)
13 12
cos”' . = Cos s
Now, let 5 ¥ ¥ 5
Then,
sin y = 1—[212 —
- 5) "5
Therefore,
tan y =—
4
=tan~' —
¢ 3
cos™ 2 = tan 3 sisk 2}
5 3

Thus, by using (1) and (2)
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Question 8:

Prove that
Solution:

= LHS

tan —-+tan —-+tan
5 7

=}

11
—+tan ' —
3

8

1 1 1
LHS = tan‘1~+tan_1;+tan“'-§+tan‘1§

Question 9:

Prove that

tan~' Vx = %cos" [

W | =

+
S0 | —

1—x
I+x

WWwWW.CUEMATH.COM
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Solution:
Let x=tan’ 0
Then,
\/; =tanf
6 =tan ' /x
Therefore,
I=x] l— tan’ @
l+x/) l+tan’6
=cos 20
Thus,
RES = Loog! [I‘—x)
4 1+x

= % cos™' (cos20)

=lx29
2

=0

=tan~'x

=LHS

Question 10:

! Vitsinx +Vl-sinx | x xe[O ?r]
Prove that V1+sinx —+/1-sinx ’ !

Solution:

: e +smx++1-sinx
[Jl+s?nx+\/1 s?nx]= > ) 5 (by rationalizing )
J1+sinx —/1-sinx (J]+sinx) —(»./l—sinx)
l+sinx)+(l-sinx)+2,/(1+sinx)(l—sinx
_( )+ ( )+2,/( )( )
l+sinx—=1+sinx

Ly
2(1VIZ%) 1y o

2sinx SIn X

2cost X
2

JZsinEf:osE
2 2

X
=cot—
2

WWwWW.CUEMATH.COM



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

4

cuemath

THE MATH EXPERT

Thus,

LHS _Cot_l[\/l+sinx+\/1—sinxj

V1+sinx —+/l —sinx

=cot™ (cotij
2

ok =

HS

Question 11:

m—\/l—_xJ_ﬁ 1

tan“{ = ——cos"x,—Lstl
Prove that VI+x++/1-x

2 3 J2
Solution:
x=cos29:9=lcos"x
Let 2
Thus,
LHS = tan 1+ x—+1-x
\/l+x+\f]~x
o J1+c0s26 —v1—cos 26
J1+¢c0s26 ++/1—cos 260
g (J2c0s0 —v2sin%6
V20526 ++/2sin’6
_tan_lrﬁcosﬁ—ﬁsine
V2 cos0 ++/2sinf
ran”! cosG—sin@]
\ cosf +sinf
. l—tanEJ)
l1+tan@

=tan '1-tan ' (tan6)

4
T 1

= e GORT X
4 2

= RHS

_T g
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Question 12:

9t 9 . .oy B2
———sin”' —==sin"' ——

1 9
Provethat 8 4 3 4

Solution:
LHS =9—x—25in_1 ]_
8 4 3

1
-1

COS —=X=>COoSX=
Now, let 3

Therefore,

22
3
N
X=5n — -
3
cosﬁll=sinr'& +(2)
3 3
Thus, by using (1) and (2)
o9r 9. ,1 9. 242
et gin Tl —=Zgingt =
8 4 3 4 3

Hence proved.

Question 13:
Solve 2tan” (cosx)=tan"' (2cosec x)_

Solution:
It is given that 2tan ' (cosx) = tan™' (2cosec x)
2%
. 2tan”' (x)=tan™
Since, (%) 1—x?
Hence,
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Therefore,

Question 14:

an_l 1 _x
Solve 1+x

1-cos” x

( 2¢cosx
= ———
1—cos”x

)
= tan”' [Lsx] =tan™" (2cosec x)

J = (2cosec x)

Zcosx: 2

sin*x  sinx
= COoSX=sInx
=tanx=1

:>tanx=tan%

T
X=nmw+—
4 ,where neZ.

= %tan_I x,(x>0)

Solution:
 tan’'x—tan” y=tan' 2
Since . s
Hence,
1- 1
—tan'— > = _tan'x
1+x 2

Question 15:

Solve

(A) V1-¥

sin(tan_l x),|x| <1

-1 -1 _i -1
= tan~ |1—tan x—Etan *

is equal to

1 !
(B) v1-x’ (C) V1+x?

WWwWW.CUEMATH.COM

X
(D) V1+x’



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

cuemath

THE MATH EXPERT

Solution:
Let tany=x
Therefore,

X x
siny =
i+ x®

Now, let tan' x=y

Therefore,
y=sin"' ( a ]
V1+x?
Hence,
tan™' x =sin™' ( L ]
V1+x?
Thus,

sin(tan™" x) = sin (Si“_l [\/117 D

X

N1+ 22

Thus, the correct option is D.

Question 16:

sin”' (1-x)—2sin"' x = %

Solve: , then x is equal to

0.+ 1
(A) 2 B) 2 ©)0
Solution:

sin”' (1-x)-2sin"' x=2

It is given that (1-x) 2

= sin”' [1—x)—25in”x=%
= T s |

= —2sin x=—~sin (1-x)

= —2sin” x=cos™ (I—-x) s (L]

Let sin'x=y=siny=x
Hence,

WWwWW.CUEMATH.COM
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cos y =1-x’
y=cos" (\fl—xz)
2

sin'x=cos'Vl-x

From equation (1), we have

—2cos™ V1-x* =cos™ (1-x)

Put x =siny

= —2cos ™' /1-sin’ y =cos™ (1-siny)

= —2cos ' (cos y) =cos ™ (1-sin y)

= -2y =cos ' (1-siny)
= l_siny=cos(~2y)
=>1-siny=cos2y

= 1-siny=1-2sin’y
=>2sin” y—-siny=0

= sin y(2siny—1)=0

. 1
=siny=0,—
e
Therefore,

x=0,l
2
ool
When 2 , it does not satisfy the equation.

Hence, x =0 is the only solution

Thus, the correct option is C.

Question 17:

tan”™ [_] —tan~! Ll )
Solve y X+Y is equal to
T T

(A) 2 (B) 3 )

(D) 4

g
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Solution:
_ . x—y
tan_l(fj tan_lx Y =g y X+
y x+y x
[y](WJ
x(x+y)-y(x-y)
I y(x+y)
y(x+y)+x(x-y)
y(x+y)
O et e
\y+y +x —xy
=tan"'(1)
=tan‘1[tan£J
4
B
4

Thus, the correct option is C.
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